Schedule: B

Project No.: ERFO/FWS-MRT 10(2), 10(3)

Project Name: MERRITT ISLAND NATIONAL WILDLIFE REFUGE

8(a) Contract

State: FL Opened at: Sterling, VA
County: BREVARD By: Schaad/Emmons

MERRITT ISLAND NATIONAL REFUGE Date: 06/19/03

I certify that this Bid Tabulation accurately reflects the proposal as negotiated.

Signed: **Deborah Ranciato**

Title: Program Specialist Date: 6/26/03

Contract Awarded to: JAM Construction/C & D Construction Date:

Contractor	Bid Amount	Responsive	
C & D / JAM Construction, A Joint V Post office Box 1626	2,928,630.00		
Cocoa, FL 32923-1626			
Inland Equipment Services, Inc. 1656 E. 5th Street	(3,691,396.16)	No	
Panama City, FL 32401			
Engineer's Estimate	3.020.000.00		

Schedule: B

Project No.: ERFO/FWS-MRT 10(2), 10(3)

Project Name: MERRITT ISLAND NATIONAL WILDLIFE REFUGE

BID ITEM CHECK PASS

Date: 06/24/03

Bidder	Item No.	Bidder's Extension	Computed Extension
Inland Equipment Services, Inc.	50101N	12,901.50	13,999.50

Schedule: B

Project No.: ERFO/FWS-MRT 10(2), 10(3)

Project Name: MERRITT ISLAND NATIONAL WILDLIFE REFUGE

BID TOTAL CHECK PASS

Date: 06/24/03

Bidder	Bidder's Bid Amount	Computed Bid Amount	Error
C & D / JAM Construction, A Joint V	2,836,560.00	2,928,630.00	***
Inland Equipment Services, Inc.	3,791,390.16	3,691,396.16	***

The apparent low bidder is 3% below the engineer's estimate.

Page 1

TABULATION OF BIDS

Date: 06/24/03

Schedule: B

Project No.: ERFO/FWS-MRT 10(2), 10(3)

Item No.	Item Unit	Item Description	Quantity	Unit Price	Amount	
15101	LPSM	MOBILIZATION				
	C & D / JAM Construction, A	A Joint V	ALL	400,000.00	400,000.00	
	Inland Equipment Services, I	nc.		209,401.60	209,401.60	
	ENGINEER'S ESTIMATE			162,671.00	162,671.00	
15201	LPSM	CONSTRUCTION SURV	EY AND STAKING			
	C & D / JAM Construction,	A Joint V	ALL	35,000.00	35,000.00	
	Inland Equipment Services, I	nc.		75,660.52	75,660.52	
	ENGINEER'S ESTIMATE			75,000.00	75,000.00	
15401	LPSM	CONTRACTOR TESTIN	G			
	C & D / JAM Construction, A	A Joint V	ALL	10,000.00	10,000.00	
	Inland Equipment Services, I	nc.		24,286.37	24,286.37	
	ENGINEER'S ESTIMATE			40,000.00	40,000.00	
15703	LNFT	SILT FENCE				
	C & D / JAM Construction, A	A Joint V	1,200	2.00	2,400.00	
	Inland Equipment Services, I	nc.		1.52	1,824.00	
	ENGINEER'S ESTIMATE			5.00	6,000.00	
15707	LNFT TEMPORARY CULVERT PIPE					
	C & D / JAM Construction, A	A Joint V	60	30.00	1,800.00	
	Inland Equipment Services, I	nc.		51.10	3,066.00	
	ENGINEER'S ESTIMATE			50.00	3,000.00	
15729	LNFT	TURBIDITY BARRIERS				
	C & D / JAM Construction, A	A Joint V	5,000	3.00	15,000.00	
	Inland Equipment Services, I	nc.		9.73	48,650.00	
	ENGINEER'S ESTIMATE			7.50	37,500.00	
15729R	LNFT	RELOCATE TURBIDITY	BARRIERS			
	C & D / JAM Construction, A	A Joint V	118,600	1.50	177,900.00	
	Inland Equipment Services, I	nc.		2.54	301,244.00	
	ENGINEER'S ESTIMATE			2.00	237,200.00	
20101	ACRE	CLEARING AND GRUB	BING			
	C & D / JAM Construction, A	A Joint V	3.8	12,000.00	45,600.00	
	Inland Equipment Services, I	nc.		7,285.92	27,686.50	
	ENGINEER'S ESTIMATE			7,000.00	26,600.00	

Page 2

Date: 06/24/03

TABULATION OF BIDS

Schedule: B

Project No.: ERFO/FWS-MRT 10(2), 10(3)

Item No.	Item Unit	Item Description	Quantity	Unit Price	Amount
20301C	EACH	REMOVAL OF GATES			
	C & D / JAM Construction,	A Joint V	4	400.00	1,600.00
	Inland Equipment Services,	Inc.		1,384.62	5,538.48
	ENGINEER'S ESTIMATE			200.00	800.00
20302H	LNFT	REMOVAL OF PIPE CULV	VERTS		
	C & D / JAM Construction,	A Joint V	540	20.00	10,800.00
	Inland Equipment Services,	Inc.		55.38	29,905.20
	ENGINEER'S ESTIMATE			9.00	4,860.00
20401	CUYD	ROADWAY EXCAVATION	ON		
	C & D / JAM Construction,	A Joint V	42,250	10.00	422,500.00
	Inland Equipment Services,	Inc.		7.46	315,185.00
	ENGINEER'S ESTIMATE			11.00	464,750.00
20402	CUYD	SUBEXCAVATION			
	C & D / JAM Construction,	A Joint V	2,000	11.00	22,000.00
	Inland Equipment Services,	Inc.		11.38	22,760.00
	ENGINEER'S ESTIMATE			15.00	30,000.00
20409	CUYD EMBANKMENT CONSTRUCTION				
	C & D / JAM Construction,	A Joint V	840	11.00	9,240.00
	Inland Equipment Services,	Inc.		7.46	6,266.40
	ENGINEER'S ESTIMATE			18.00	15,120.00
20701CA	A SQYD	EARTHWORK GEOTEXT	ILE, TYPE III-A		
	C & D / JAM Construction,	A Joint V	5,810	3.00	17,430.00
	Inland Equipment Services,	Inc.		3.36	19,521.60
	ENGINEER'S ESTIMATE			4.00	23,240.00
20701Da	A SQYD	EARTHWORK GEOTEXT	TLE, TYPE IV-A		
	C & D / JAM Construction,	A Joint V	11,100	3.00	33,300.00
	Inland Equipment Services,	Inc.		3.95	43,845.00
	ENGINEER'S ESTIMATE			4.00	44,400.00
20802	CUYD	FOUNDATION FILL			
	C & D / JAM Construction,	A Joint V	40	225.00	9,000.00
	Inland Equipment Services,	Inc.		31.53	1,261.20
	ENGINEER'S ESTIMATE			25.00	1,000.00

Date: 06/24/03

Schedule: B

Project No.: ERFO/FWS-MRT 10(2), 10(3)

Item No.	Item Unit	Item Description	Quantity	Unit Price	Amount	
25101C	CUYD	PLACED RIPRAP, CLAS	SS 3			
	C & D / JAM Construction	, A Joint V	2,850	130.00	370,500.00	
	Inland Equipment Services,	Inc.		99.45	283,432.50	
	ENGINEER'S ESTIMATE			120.00	342,000.00	
30101	TON	AGGREGATE BASE (LI	MEROCK)			
	C & D / JAM Construction	, A Joint V	10,415	30.00	312,450.00	
	Inland Equipment Services,	, Inc.		30.91	321,927.65	
	ENGINEER'S ESTIMATE			25.00	260,375.00	
30107	TON	AGGREGATE SURFACE	E COURSE (CRUSHED SH	ELL MIX)		
	C & D / JAM Construction	, A Joint V	24,825	20.00	496,500.00	
	Inland Equipment Services,	, Inc.		30.91	767,340.75	
	ENGINEER'S ESTIMATE			30.00	744,750.00	
30107	TON AGGREGATE SURFACE COURSE (NO. 2 AASHTO ROCK FOR SPILLWAYS)					
	C & D / JAM Construction		1,900	15.00	28,500.00	
	Inland Equipment Services.	Inc.		41.37	78,603.00	
	ENGINEER'S ESTIMATE			60.00	114,000.00	
41801A	AD TON		CONCRETE PAVEMENT BESAL, TYPE 4 PAVEME		L MAXIMUM	
	C & D / JAM Construction		430	75.00	32,250.00	
	Inland Equipment Services	, Inc.		85.00	36,550.00	
	ENGINEER'S ESTIMATE			65.00	27,950.00	
41801CA	A TON	SUPERPAVE ASPHALT SIZE AGGREGATE, <0	CONCRETE PAVEMENT SESAL	Γ, 3/4-INCH NOMINA	L MAXIMUM	
	C & D / JAM Construction	, A Joint V	710	70.00	49,700.00	
	Inland Equipment Services,	, Inc.		78.93	56,040.30	
	ENGINEER'S ESTIMATE			62.00	44,020.00	
50101N	SOYD REINFORCED PORTLAND CEMENT CONCRETE PAVEMENT, 6-INCH DEPTH					
	C & D / JAM Construction	, A Joint V	366	45.00	16,470.00	
	Inland Equipment Services,	Inc.		38.25	13,999.50	
	ENGINEER'S ESTIMATE			55.00	20,130.00	

Date: 06/24/03

Schedule: B

Project No.: ERFO/FWS-MRT 10(2), 10(3)

Item No.	Item Unit	Item Description	Quantity	Unit Price	Amount
60219A	EACH	WATER CONTROL ST	RUCTURE, SINGLE PIPE		
	C & D / JAM Construction, A	A Joint V	6	5,000.00	30,000.00
	Inland Equipment Services, In	nc.		38,858.21	233,149.26
	ENGINEER'S ESTIMATE			5,000.00	30,000.00
60219B	EACH	WATER CONTROL ST	RUCTURE, DOUBLE PIP	E	
	C & D / JAM Construction, A	A Joint V	8	7,000.00	56,000.00
	Inland Equipment Services, In	nc.		48,572.77	388,582.16
	ENGINEER'S ESTIMATE			8,500.00	68,000.00
60901Y	LNFT	PORTLAND CEMENT	CONCRETE CURB, 18-IN	CH DEPTH	
	C & D / JAM Construction, A	A Joint V	1,310	25.00	32,750.00
	Inland Equipment Services, In	nc.		9.71	12,720.10
	ENGINEER'S ESTIMATE			17.00	22,270.00
61501B	SQYD	PORTLAND CEMENT	CONCRETE SIDEWALK		
	C & D / JAM Construction, A	A Joint V	8	50.00	400.00
	Inland Equipment Services, In	nc.		1,374.99	10,999.92
	ENGINEER'S ESTIMATE			43.00	344.00
61902BF	H EACH	GATE, METAL TYPE, 1	.6-FOOT WIDTH (CABLE	E TYPE)	
	C & D / JAM Construction, A	A Joint V	6	3,000.00	18,000.00
	Inland Equipment Services, In	nc.		10,223.51	61,341.06
	ENGINEER'S ESTIMATE			3,000.00	18,000.00
62509	ACRE	TURF ESTABLISHMEN	NT		
	C & D / JAM Construction, A	A Joint V	15.7	3,800.00	59,660.00
	Inland Equipment Services, In	nc.		2,614.17	41,042.47
	ENGINEER'S ESTIMATE			1,500.00	23,550.00
62802A	SQYD	BROADCAST SPRIGGI	NG		
	C & D / JAM Construction, A	A Joint V	3,420	10.00	34,200.00
	Inland Equipment Services, In	nc.		14.57	49,829.40
	ENGINEER'S ESTIMATE			8.00	27,360.00
62903	SQYD	CELLULAR CONFINEN	MENT SYSTEM		
	C & D / JAM Construction, A	A Joint V	5,900	11.00	64,900.00
	Inland Equipment Services, In	nc.		24.70	145,730.00
	ENGINEER'S ESTIMATE			13.00	76,700.00

Page 5

Date: 06/24/03

TABULATION OF BIDS

Schedule: B

Project No.: ERFO/FWS-MRT 10(2), 10(3)

Item No.	Item Item Unit Description	Quantity	Unit Price	Amount		
63304CC	SQFT SIGNS, ALUMINUM PANE	ELS, TYPE 3 SHEETING				
	C & D / JAM Construction, A Joint V	46	20.00	920.00		
	Inland Equipment Services, Inc.		25.00	1,150.00		
	ENGINEER'S ESTIMATE		50.00	2,300.00		
63401HA	A LNFT PAVEMENT MARKINGS,	TYPE H, SOLID				
	C & D / JAM Construction, A Joint V	3,100	30.00	93,000.00		
	Inland Equipment Services, Inc.		1.21	3,751.00		
	ENGINEER'S ESTIMATE		1.40	4,340.00		
63402H	SQFT PAVEMENT MARKINGS,	ТҮРЕ Н				
	C & D / JAM Construction, A Joint V	106	2.50	265.00		
	Inland Equipment Services, Inc.		2.43	257.58		
	ENGINEER'S ESTIMATE		20.00	2,120.00		
63505C	EACH BARRICADE, TYPE 3					
	C & D / JAM Construction, A Joint V	8	500.00	4,000.00		
	Inland Equipment Services, Inc.		230.51	1,844.08		
	ENGINEER'S ESTIMATE		400.00	3,200.00		
63507	SQFT CONSTRUCTION SIGN					
	C & D / JAM Construction, A Joint V	95	21.00	1,995.00		
	Inland Equipment Services, Inc.		31.94	3,034.30		
	ENGINEER'S ESTIMATE		30.00	2,850.00		
63641B	EACH LIGHTING INSTALLATIO	N				
	C & D / JAM Construction, A Joint V	3	3,000.00	9,000.00		
	Inland Equipment Services, Inc.		4,857.27	14,571.81		
	ENGINEER'S ESTIMATE		3,500.00	10,500.00		
63701	EACH FIELD OFFICE (EQUIPMENT ONLY)					
	C & D / JAM Construction, A Joint V	1	3,500.00	3,500.00		
	Inland Equipment Services, Inc.		27,397.45	27,397.45		
	ENGINEER'S ESTIMATE		3,000.00	3,000.00		
63705	CTSM LONG DISTANCE CALLIN	NG				
	C & D / JAM Construction, A Joint V	1	100.00	100.00		
	Inland Equipment Services, Inc.		2,000.00	2,000.00		
	ENGINEER'S ESTIMATE		100.00	100.00		